£18E $E FrLyY 937953077
CHALLENGE cLUB(1/7)

1Gr.Time Attack 1[B]H

Lap Time Chart

C3RE# § M135i PIT: 1=

3= 2'59.103 5= 3'13.382 6=
3'00.371 4= 3'10.152
C2R /M Fig Kk HREOVE FEILSLE 86 PIT: 1[H
3= 2'52.956 5= 2'48.853 6=
3'00.599 4= 2'52.417

C2RkA #Hsh 86 PIT: 1[E

2= 252954 3= 245482 4=
C3R ¥ #M H25081TREph YE'v9547R PIT: 1H
3= 2'55.150 5= 247958 6=
257.125 4= 2'46.637

CIRAAH Mz HTHR -7 PIT: 1E

3= 3'16.484 5= *2'59.152 6=
3'01.371 4= 3'02.269

CIRI#k X3 7E|/DFT ! ! K13 MARCHNISMO S PIT: 1[H

3= 334426 4= *3'11.898 5=
3'13.663
C2R=i# #&& Ytv) PIT: 1M

3= 257876 5= 246137 6=
252481 4= 2'45.142

3'08.470

*2'47.438

2'40.132

2'45.032

2'59.184

3'17.031

*2'42.779

C5R /M st HVETOSIMTTOTHRVTESL, 9114L5 PIT: 1[H

3= 2'53.047 5= 2'49.301 6=
2'56.205 4= *2'46.167

2'48.974

C5R #% E# BSAANEETHEENET., 964C2 cuptttk PIT: 1H

3= 254924 5= 243248 7=
257176 4= 245986 6= 242511
C2RE&HE 5k 86 PIT: 1E
3= 2'52.841 4= 246870 5=

2'58.461

C2R XKk EEX LUh'YB4 PIT: 1EH

3= 259.827 5= 257302 6=

255412 4= 243.771

CIR#LE Bh SEIEFI-FhHwIHh—8BA'!' -7 PIT:1H
3= 244954 5= 244199 6=

246395 4= 245121

2'43.685

3'05.595

*2'43.246

244,644

2017-01-15
WEATHER :

COURSE :

*2'58.899

2'52.649

*2'37.777

*2'44.727

3'00.246

3'23.403

2'45.559

2'53.112

*2'40.575

*2'43.362

2'49.725

*2'43.783

EFEL—>2 0 3—X

P3'31.222

P3'40.963

P3'15.703

P3'42.713

P3'37.753

P3'34.980

P3'48.751

P3'36.628

P3'07.054

P3'45.745

P3'37.064

P3'42.198



£18E $E FrLyY 937953077
CHALLENGE cLUB(1/7)

CiIRB#
3=
2'53.320 4=
CiIRB#
3=
3'00.024 4=
C3R 3 X
3=
2'53.407 4=

1Gr.Time Attack 1[B]H
Lap Time Chart

2'51.053 5=
2'50.312

3'02.045 5=
2'47.164

RX-8 PIT: 18]
2'47.566 5=
2'48.999

o AU, KYISENOM?  Vits PIT: 1[8]
2'53.919

3'11.013

2'49.425

6= *2'48.782

R ALEAYILNZENOM?  HA-3LEY PIT: 1E

6= *2'45.973

6= *2'45.323

C1R ¥ %t Darkside civic with TOPFUEL Yt'v% PIT: 1[@

2=

C2R R&HE HH Rbvh.HEERDIE! #—!

3=
2'40.669

2'50.998 3=

2'40.550 4=

2'41.280

86 PIT: 1]
*2'39.308

4= 2'35.971

5= 2'56.279

CARBAT & 1EULM-FyMETERHIEFEADFLYY RX-7 PIT: 2E

3=
P3'27.906
CIREX B#t
3=
2'48.662 4=

6'23.841 4=

A-FR%— PIT: 1=

2'49.089 5=
2'49.108

2'51.978

2'49.301

5= 2'48.681

6= *2'47.660

7=

2017-01-15
WEATHER :

COURSE :

2'59.720

2'48.448

2'46.079

*2'33.365

2'59.165

*2'44.959

2'48.498

C5R #kE #A #HEY-+I2EHOETELVATEIENTT U7 Ly¥WRX -STI PIT: 2[E

3=
2'59.478

*2'50.928 4=

2'59.860

5= P3'07.408

6=

4'58.753

EL—>203—X

P3'37.187

P3'45.902

P3'37.260

P3'25.429

P3'12.207

P3'34.692

P3'38.681

P3'43.909



